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MATHEMATICS

National 5 – Relationships
Unit 2  – PRACTICE NAB 2
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Answer these questions

	Q1
	A straight line with gradient   -5   passes through the point  (4,-25)

Determine the equation of this straight line.
	(3)

	
	
	

	Q2
	Solve the inequation       
[image: image1.wmf]17

3

2

8

+

>

+

m

m

   
	(3)

	
	
	

	Q3
	Tara spent £13.54 on 11 litres of petrol and 3 litres of oil for her car.

Write an equation to represent this information
	(1)

	
	
	

	Q4
	Solve the following system of equations algebraically;
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3x + 4y = 22
8x − 2y = 8
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	(3)

	
	
	

	Q5
	Change the subject of the formula to x,
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a = 5 x
b
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	(3)

	
	
	

	Q6
	A parabola with equation y = kx² is shown below.
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What is the value of k ?


	(1)

	
	
	

	Q7
	The graph below shows a quadratic function with equation of the form 
y = (x + b)² + c, where b and c are integers.
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State the values of b and c.


	(2)

	
	
	

	Q8
	Sketch the graph y = (x – 8)(x + 6) on plain paper.

Mark clearly where the  graph crosses the axes and state the coordinates of the turning point.
	(3)

	
	
	

	Q9
	The equation y = (x + 2)² – 4 is a parabola.

(a)  Write down the equation of its axis of symmetry.

(b) Write down the coordinates of the turning point on the parabola and state  whether it is a maximum or minimum.


	(3)

	
	
	

	Q10
	Solve the following equation:

(x + 5)(x – 2) = 0


	(1)

	
	
	

	Q11
	Solve the equation x2 - 6x + 3 = 0 using the quadratic formula. Round your answer to 2 decimal places
	(4)

	
	
	

	Q12
	Determine the nature of the roots of the equation 5x2 – x + 11 = 0 using the discriminant.


	(3)

	
	
	

	Q13
	Has this flagpole been erected correctly, so that it is vertical? 
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	(3)

	
	
	

	Q14
	Kite MJKL and a circle with centre J are detailed in the diagram.

ML is a tangent to the circle at M and KL is a tangent to the circle at K
Given that angle MJK is 130°, calculate angle MLK

	(3)

	
	
	

	Q15
	The picture below shows two saucepans which are mathematically similar.
The volume of the large pan is 3.75litres. Calculate the volume of the small one.
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	(2)

	
	
	

	Q16
	Here is a regular hexagon.

Calculate the size of one interior angle


	(2)

	
	
	

	Q17
	Sketch the graph of     y = 3sinxo [image: image10.png]0° < x < 360°



     for     

	(2)

	
	
	

	Q18
	Write down the period of the graph with equation     y = cos4xo 
	(1)

	
	
	

	Q19
	Solve the equation  3cosxo +6 = 8 [image: image13.png]0° = x = 360°



, 
	(3)

	
	End of question paper
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